

Bonus points

11/10

12/10

$$\text{also } x \rightarrow r \Rightarrow f(x) \rightarrow \lim_{x \rightarrow r} f(x) = \lim_{x \rightarrow r} f(x) \rightarrow r = f - a \Rightarrow a = r \quad (1)$$

$$\frac{a=r}{\rightarrow} \left[ \frac{a}{r} \right] = \left[ \frac{r}{r} \right] = 0 \quad \checkmark \quad (2)$$

$$\lim_{x \rightarrow \frac{\pi}{4}^-} [\sin x - 1] \rightarrow \begin{array}{c} \text{graph of } \sin x \\ \text{at } x = \frac{\pi}{4} \end{array} \Rightarrow \lim_{x \rightarrow \frac{\pi}{4}^-} [1 - 1] = 0 \quad \checkmark \quad (3)$$

$$\lim_{x \rightarrow \frac{1}{e}} [\ln x - x] = \left[ \ln \frac{1}{e} - \frac{1}{e} \right] = \left[ -1 - \frac{1}{e} \right] = -1 - \frac{1}{e} \quad \checkmark \quad (4)$$

$$\lim_{x \rightarrow (-\frac{1}{e})^-} \frac{\ln x - 1 + \left( \frac{e}{x} \right)}{14x - \left( -\frac{1}{x} \right)} \rightarrow \begin{array}{c} \frac{e}{x} \rightarrow \infty \\ -\frac{1}{x} \rightarrow \infty \end{array} \Rightarrow \frac{\ln x + 1}{14x + 1} = \frac{\ln x + 1}{14x + 1} = \frac{+1}{0} = -\infty \quad \checkmark \quad (5)$$

$$\lim_{x \rightarrow 1^+} \frac{\sin^2 x}{\ln x + \cos x} = \frac{1 - \cos^2 x}{1 + \cos x} = 1 - \cos x = 1 - (-1) = 2 \quad \checkmark \quad (6)$$

$$\lim_{x \rightarrow -1} \frac{\sqrt{x+1} - \sqrt{x+1}}{1 + \sqrt{x}} \xrightarrow{\text{Hop}} \frac{\frac{1}{\sqrt{x+1}} - \frac{1}{\sqrt{x+1}}}{1} = \frac{0}{1} = 0 \quad \checkmark \quad (7)$$

$$\lim_{x \rightarrow 1} \frac{x - \sqrt{x^2 + 1}}{x - \sqrt{x^2 + 1}} = \frac{0}{0} \xrightarrow{\text{Hop}} \frac{1 - \frac{1}{2}x}{1 - \frac{1}{2}(x+1)} = \frac{1 - \frac{1}{2}}{1 - \frac{1}{2}} = 1 \quad \checkmark \quad (8)$$

$$\lim_{x \rightarrow 0} \frac{a + \sqrt{bx+c}}{x} = \frac{1}{e} \Rightarrow a = -\sqrt{c} \quad \checkmark \quad (9)$$

$$\xrightarrow{\text{Hop}} \frac{b}{\sqrt{bx+c}} = \frac{1}{e} \xrightarrow{x=0} \frac{b}{\sqrt{c}} = \frac{1}{e} \rightarrow b = \sqrt{c} \quad \checkmark$$

$$\frac{ab}{c} = \frac{-b \cdot b}{\sqrt{b^2}} = \frac{-1}{1} = -1 \quad \checkmark$$

$$\lim_{x \rightarrow -\infty} \frac{r + k \left[ \frac{x}{n} \right]}{\ln x} \xrightarrow{\text{L'Hôpital}} \lim_{x \rightarrow -\infty} \frac{r + k \left[ \frac{x}{n} \right]}{\ln x} = \lim_{x \rightarrow -\infty} \frac{r + k \left[ \frac{x}{n} \right]}{\ln x} \Rightarrow \quad (9)$$

$$\frac{r + k \left[ \frac{-\infty}{n} \right]}{0^+} = \frac{r - \infty k}{0^+} = +\infty \Rightarrow k = r \Rightarrow [-k] = -r$$

$$\lim_{x \rightarrow \infty} \frac{b \sqrt{r + \sqrt{x}} - rb}{ax - b} \stackrel{\text{L'Hôpital}}{\rightarrow} \lim_{x \rightarrow \infty} \frac{b \sqrt{r + \sqrt{x}} - rb}{ax - b} = \frac{0}{0} \Rightarrow \Delta a - b = 0$$

$$\Rightarrow \frac{b}{a} = \frac{b}{a} \xrightarrow{\text{Hop}} \frac{b}{r} (r + \sqrt{x})^{-\frac{1}{2}} = \frac{b}{ra} = r$$

$$\lim_{n \rightarrow -1} \frac{\sqrt{r_n + r} - \sqrt{r_n + s}}{1 + \sqrt{n}} \times \frac{\sqrt{r_n + r} + \sqrt{r_n + s}}{\sqrt{r_n + r} + \sqrt{r_n + s}} \times \frac{1 + \sqrt{n}^r - \sqrt{n}}{1 + \sqrt{n}^r - \sqrt{n}}$$

$$= \lim_{n \rightarrow -1} \frac{(r_n + r - r_n - s)(r)}{(1+n)(r)} = \frac{-(1+n) \times r}{(n+1) \times r} = -\frac{r}{r}$$

$$\lim_{n \rightarrow -1} \frac{(\sqrt{n} - 1)(r\sqrt{n} - s)}{r_n - \sqrt{r_n + 1}} \times \frac{r_n + \sqrt{r_n + 1}}{r_n + \sqrt{r_n + 1}} = \frac{(\sqrt{n} - 1)(r\sqrt{n} - s) \times r}{r_n^2 - r_n - 1}$$

$$\lim_{n \rightarrow -1} \frac{(\sqrt{n} - 1)(r\sqrt{n} - s) \times r}{(\sqrt{n} - 1)(r_n + 1)} = \lim_{n \rightarrow -1} \frac{[r(\sqrt{n} - 1)] \times r}{(r(1) + 1) \times r} = -\frac{r}{r}$$

درت کمر به صفی مرکب ہیں چون جواب عددی حقیقی است مخرج ہم باقی به صفی مرکب کند!

$$\Delta a - b = 0 \rightarrow b = \Delta a$$

$$\lim_{n \rightarrow \infty} \frac{\Delta a (\sqrt{r + \sqrt{n}} - r)}{a(n - \Delta)} \times \frac{\sqrt{r + \sqrt{n}} + r}{\sqrt{r + \sqrt{n}} + r} = \lim_{n \rightarrow \infty} \frac{\Delta a (\sqrt{n} - r)}{a(n - \Delta) \times r}$$

$$= \lim_{n \rightarrow \infty} \frac{\Delta}{(\sqrt{n} + \sqrt{n} + 2) \times r} = \frac{\Delta}{12 \times 2} = \frac{1}{4}$$